Present Value of $1.00 Annual Pension

Based on Investment Yield and Life Expectancy

* The Yield Ratio is derived by dividing the 0% factor by the 9% factor.
** The Expectancy Ratio is derived by dividing the 39yr. factor the 5yr. factor.

NOTE: as Life Expectance soars, lower Investment Yields will trigger dramatic costincreases.

To illustrate, if Yield/Expectanceis 2%/30 instead of 7% /10, pension costs will triple.

vield LiIfe Expectancy at Retlrement Expectancy
5 10 15 18 21 24 27 30 33 36 39 Ratio **
0% 500 1000 1500 1800 2100 2400 2700 3000 3300 3600  3900] 7.8
1% 490 957 1400 1656 1905 2146 2380 2607 2827 3041 3248 68
2% 481 916 1311 1529 1735 1920 2112 22.84] 2447 2600  2744| 57
3% 472 879 1230 1417 1588 1744 1888 2019 2139 2249 2349 50
4% 463 844 1156 1317 145 1586 1698 1798 1887 1966 2037 44
5% 455 811 1090 1227 1346 1449 1538 1614 1680 1737 1787 339
6% 447 780 10290 1148 1247 1330 1400 1450 1508 1550 1585 35
7% 439 975 1076 1150 1227 1283 1328 1365 1395 1419 3.2
8% 431 725 924 1012 1082 1137 1101 1216 1243 1265 1283 3.0
9% 424 700 879 954 1013 1058 1093 1120 1141 1157  1169] 28
Yield Ratio * 1.2 1.4 1.7 1.9 2.1 2.3 2.5 2.7 2.9 3.1 3.3

This combination (je., living longer combined with lower yields) has the potential to increase pension costs 400% to 700%
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